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1.5km

35
29 3.63 2 21 25 31
41
29 3.8 5 20 53 39

15 2km
40
23 3.92 2 10 54 63

15 2km
34
25 3.85 12 38 32 28

1.0 1.5km
46
15 35 19 56 50 36

1.5km
26
23 3.73 10 57 47 34
1.0 1.5km

33
21 4,03 11 64 19 19

1.5km
50
19 3.54 13 33 19 27

1.5km
34
24 3.66 5 14 30 29
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5,380mm 4 ,590mm
2,300mm 2,080mm 1,880mm 1,695mm
2,980mm 2,820mm 2,285mm 1,525mm
58
23 28 14 10
27 + 30
1 1 1
1)
3.3 3.1 2.9 2.7
5.1 4.7 4.3 3.9
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15

15

40

/1

86

300

4,100

4,500

3,000

2,600

5,200
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= 15 x X
X
(15
39% 071] 252
1 2 3% 0.14 50
0 (o))
4,100 57% 39— 6% 0.03 | 326
9% 027 22
13% 071 81
0 ol 1 2 38% 0.14 47
4,500 31% 63— 23% 0.03 5| 165
13% 027 31
4% 071 10
1 2 57% 0.14 27
Y 8%
3,000 40% BH— 2% 0.03 2| 4
7% 0.27 6
0% 071 0
1 2 40% 0.14 13
0 0,
2,600 25% 36%——> 40% 0.03 s 2
20% 027 13
28% 071] 134
1 2 31% 0.14 29
0 0
5,200 38% 3T 18% 0.03 s 200
18% 027 33
* 5 /7
Hox 2 1 /7
i | 2 1 /30
Hkkk 100 /365
1
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300

23




1

1

6 23 17

12km/h

= X 1 /60

= + X 2
A:l B C: D:1 E:
km

A= /17 B=A/1 D=Cx 2x 60/12 E=Bx (D/60)
20 20 20 7
10 10 29 5
3 3 32 2
2 2 50 2
12 12 38 8

A:l B C: D:1 E:

km

A= /17 B=A/1 D=Cx 2x 60/12 E=Bx (D/60)
20 20 20 7
10 10 29 5
3 3 32 2
2 2 50 2
12 12 38 8
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9
6 23 17
12km/h
= X 1 /60
= = x 2
Azl B C: D:1 E:
km
A= 17 B=A/4 D=Cx 2x 60/12 E=Bx (D/60)
20 5 20 2
10 3 29 2
3 1 32 1
2 1 50 1
12 3 38 2
A:l B C: D:1 E:
km
A= 17 B=A/9 D=Cx 2x 60/12 E=Bx (D/60)
20 3 20 1
10 2 29 1
3 1 32 1
2 1 50 1
12 2 38 2
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17 6 00 23 00
365
17
/
15.8
20.0
20.8
20.0
43.0 20.0x 17/8
17 6 00 23 00
365
17
/
23.0
50.0 23.0x 17/8

26




A; C: E:
/
/ /
C=Ax Bx 365 E=Ax Dx 365
2 31,390 7 109,865
2 31,390 5 78,475
43 1 15,695 2 31,390
1 15,695 2 31,390
2 31,390 8 125,560
A; C: E:
/
/ /
C=Ax Bx 365 E=Ax Dx 365
1 18,250 7 127,750
1 18,250 5 91,250
50 1 18,250 2 36,500
1 18,250 2 36,500
2 36,500 8 146,000
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300

300
300
1 300
km
2.0 200
2.9 200
3.2 250
5.0 500
3.8 250
2
300
B: C
/ /
C=Ax Bx 365
326 300 35,697
165 300 18,068
45 300 4,928
29 300 3,176
200 300 21,900
B: C
/ /
C=Ax Bx 365
326 200 23,798
165 200 12,045
45 250 4,106
29 500 5,293
200 250 18,250
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)

300 35,697 18,250 127,750 17,447 A 92,053
200 23,798 18,250 127,750 5,548 A 103,952
300 35,697 31,390 109,865 4,307 A 74,168
200 23,798 31,390 109,865 A 7,592 A 86,067
300 18,068 18,250 91,250 A 183 A 73,183
200 12,045 18,250 91,250 A 6,205 A 79,205
300 18,068 31,390 78,475 A 13,323 A 60,408
200 12,045 31,390 78,4751 A 19,345 A 66,430
300 4,928 18,250 36,500] A 13,323 A 31,573
250 4,106 18,250 36,500 A 14,144 A 32,394
300 4,928 15,695 31,390] A 10,768 A 26,463
250 4,106 15,695 31,390] A 11,589 A 27,284
300 3,176 18,250 36,500] A 15,075 A 33,325
500 5,293 18,250 36,500 A 12,958 A 31,208
300 3,176 15,695 31,390] A 12,520 A 28,215
500 5,293 15,695 31,390 A 10,403 A 26,098
300 21,900 36,500 146,000] A 14,600 A 124,100
250 18,250 36,500 146,000] A 18,250 A 127,750
300 21,900 31,390 125,560 A 9,490 A 103,660
250 18,250 31,390 125,560] A 13,140 A 107,310
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4,100 4,500 3,000 2,600 5,200
326 165 45 29 200
25 17 20 11 18
3 1 0 0 0
30 36 34 33 34
42 46 46 56 48
46 19 6 0 28
46 46 53 40 44
0 23 29 40 16
8 12 12 20 12
69 50 50 33 71
13 33 33 33 14
13 17 33 14
30 33 56 34 50
40 30 o 1 28%
46 19% 1 6% 1 40% 44%
46% 52
1 7 15 1 2 1 2 2 8
2 7 2 5 1 2 1 2 2 8
/
300 183 13,323 15,075 14,600
6,205 14,144 12,958 18,250
300 13,323 10,768 12,520 9,490
7,592 19,345 11,589 10,403 13,140
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3
3 5 /3
( 73 )C 73 Dl 3 HC ) « 73 )
2,347 9,000 A 6,653
1,188 9,000 A 7,812
122
608 7,740 A 6,792] A 28,457| A 4800 A 1500 A 2200 A 36,957
63
157
1,800 9,000 A 7,200
3 3,700

.
3 90
40 80

40

/ /

326 130 x 0.4

165 66 x 0.4

45 5 x 04x 03

45 9 x 0.4% 05

29 3 X 0.4x 03

29 3 x 0.4x 0.3

200 80 x 0.4
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B:1
)
)

130
66
20
80

)

2
/3

2,200
4,800
1,500
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km
2.0 200
2.9 200
3.2 250
8.2 750
2.0 200
5.0 500
3.8 250
150
170
170
1707
: I 560 140
L 250)
( 1707
v v 560 140
v v L 250 -
v v 460 [ 253]
21
170
230
230
- 140
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326 130 200 2,347,
165 66 200 1,188
45 5 250 122
45 9 750 608
29 3 200 63
29 3 500 157
200 80 250 1,800,

04

04x 0.3
04x 05
04x 03
04x 0.3

XXX |X|X]|X]|X

C=Ax Bx 90
9,000
9,000
7,740
9,000

50
50
43
50

NINININ
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